a(d cot(d))
5

(0 @) (rad)

1072

107 i tgﬁ i 7 M Hf

vt U

107 1

-1 2 3
10 1 TPlpoT (PCA 16 beamiinéf

—s=— DQM_V0001_R000000001__Global__mkFit_baseline

—— DQM_V0001_R000000001__Global__mkFit_var

oloa,) (cm)
T

=
<

SICEWATL

1072k

010—3 ok 010—3 bl -+ nhn L ||||! :’uuun
= F = F +
[T’ I VU SR | SRR S [ R’ I SOt R 1
o 4- o 4- 1
o R SR b S R ot

—1 —1 2 3
10 ! 10 ! TPlp?T (PCA tjbobeamliné'f)

o p/p.)

1072

Ratio

L mi e
L ; R ;

—1 : 2 3
10 1 TPlpg)T (PCA t%)obeamlin%)o




	Contents
	Page 1


